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Candidates gre required to give thejy

answers in thejr
owWn words as far g practicable.

Answer any fiye questions:

2x5=10
m—@m%ﬁ:a@ﬂa@mm:

a)  What s redox indicator? Give example.
S R R R 7 Sriegy e |

b)  What do You mean by 0zonolysis?
CrEAEER e R @mie

€)  Write down the differences be
and tautomerisation,

wwmemmwaawmmﬁ @14 |

tween resonance
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A bisulphate ion ( HSO;) can act both as an

acid and a base— explain.

' WW(HSO )wzﬁww@ww

W62 FE— I 9|

Why electron affinity of ﬂuonne is less than
of chlorine?

-WWWWW@@WWWW

A (A?

3- chlorohexane exhibits optical act1v1ty—
explain.

3-chlorohexane IE=11% f&Fae! cram— =y <541
Explain the fact that alkenes show geometrical

isomerism but alkynes or alkane do not show
such isomerism.

Wwﬁmmmmme
SIE (R [— =T 52|

Write to which of the following atoms or ions,
Bohr's theory can be applied:

ﬁwﬁ%mmmmmmm'
O Qe O (=Y ¢

Li, Li*, Li%, Li*, H, H', H-, He*, He** |

(2)
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2. Answer any two questions: : | 5x2=1¢0
R 9o @vsz Tog wye o

a)

b)

d)
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Write all the configuration of tartaric acid and
select the following pairs from them.

i) Enantiomers i1) Diasterioisomers
Tartaric acid g3 configuration & @13 @ wigrg
Y4 Enantiomers @ Diasterioisomers 5l
CRI8 | 97 oy opey %% configuration Sllcic
A& 0t 79 :

What are quantum numbers? Write down their
significance in brief. 1+4

@mmwwmﬁs@mm«wrmmﬂzf
Y :

Mention the limitations of Bohr's atomic
model. What is ionization energy? How doeg

it vary generally down a group of the periodic -

table? 3+1+1

@mmqmaﬁmwﬁmwmw

i)  Explain Saytzeff's rule in dehydro-
halogenation of alkyl halides taking
suitable example. : 2

Alkyl halides g7 dehydro-halogenation UL
(FLA Saytzeff @z S gy 7|
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ii)

Primary alkyl halides show substitution
reaction primarily via SW? mechanism
while tertiary alkyl halides show the same
via SW! mechanism — explain. 3

AR IR e dyie: Sz Io
ﬁfmrswzm“zﬁ*mmf @Y @
mﬁﬁwmﬁamswt%mm
(IR | 139 wefie | :

., & Answelj any two questions : 10x2=20
(I 76 @esz Teg wie -

iii)
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State and explain Pauli's exclusion
principle. .

AR oy AR repr e w2
NH, is more basic than PH,—why? 2
NH,, PH, o1 % w3 oo 7

How do the following properties of
elements generally vary in passing along

a period from left to right. Justify your

answer with suitable explanation: 2+2
A) electronegativity and

B) atomic radius




S 20 1 1 g oy«
A)  SoIffer «ae

B) frmwfae Riiich

Write short notes on:

A) Geometrical isomerism

B) Kolbe's reaction A4t
e Bt o s

A) WfRfE e

B) @ R :
Draw the Newman projection formula of I

-~ different configurationg o2~ 3

iii)

dichloropentane. e

2, 3 dichloropentane e S
IO IR 391 el et U

TS g 57
Give one example of each Nucleophile
and electrophile, ‘ 1

ﬁﬁﬁéwemmwﬁ,m
SR TR '
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Assign' R/S configuration to the following
compounds: -

e @l R/ configuration

Cl

T:Hs :

e ¢

CH,OH

i

_E-1eE-2ﬁﬁj-m_amiﬁvn@ﬁuﬁwu

iii)

C,H;

COOH

Cite any two differences between E-1 and
E-2 reactions. ~ SO

Show the mechanism of bromine addition :
to the alkene. Free radical additions to
alkene 'disobey’ the Markownikoff's rule—
explain. 3]

AT @i axyfes GFM?{ @G |
SIER & Joe AQReH e fmw
FF I F— ARG T

d) i)  Explain why the first ionisation potential
of Noble gases are very high. 2
g oo e=m s fRew 93 @@ @ e
452/Chem (6) : !
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